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Virtual reality is a new and rapidly expanding area seeking to immerse 

the user in completely new surroundings. Total immersion is currently 

hindered in pre-recorded environments by the user's inability to move 

inside the scene. Additional views can be synthesized through Depth-

image-based-rendering (DIBR), but DIBR causes disocclusion holes ‒ 

spatial regions that were not visible in the reference view. These holes 

can be filled with traditional inpainting, but the additional depth data can 

be leveraged to produce higher quality, more accurate results.
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